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A simple test for monoalphabetic substitution

English: MISSISSIPPI
Monoalphabetic: RDFFDFFDOOD
Vigenere : PQJLLAJBSXZ

In English or monoalphabetic encrypted text we observe:

PAA ~+ PBE ~+ P + o pzz & N2
While in polyalphabetic cyphertext we should observe:
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A simple test for monoalphabetic substitution

English: MISSISSIPPIL
Monoalphabetic: RDFFDFFDOOD
Vigenere : PQJLLAJBSXZ

In English or monoalphabetic encrypted text we observe:

paa+ pee + pcc + -+ pzz ~ .027
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mxm:__u_mo_qﬁmc_moﬁ Muwblb Pa.b log 2%%

with correct period

We should see high values in each row and column except one row
(the last position of the permutation) and one column (the first
position of the permutation).
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Example of table of MUMoHL pab log 2%.%

with incorrect period |

We should see high and low values evenly distributed in the table.

0 [ 1419 21|(25] 20
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